FS1EELRRNRTYMR—ILRR - F12REFLRRNRTYFR—ILTRE—X KK

3/1(L) B RR—Y 25—

Sa—t E—HEE (4D

4t a—tav Tip-off BH (EH)-70)
1 17:00 17:10 17:30 18:45 m 1~7 8~13 (COmMF—L)
2 1845 1855 19:15 20:30 m 14~19 20~26 (1O\F—L)

Ta—F HB—HKEE (D

24t a—rqr Tip-Off EH (T¥$-TO)
1 1715 17:25 1745 1900 BFI =7 1~5 6~11 (COmMF—L)
2 19.00 1910 19:30 2045 BFL=7 12~16 17~21 I DEF—L)

3/13(L) BRRAR—Y 24—
Ua—k F—AEE (24

Zft a—r1v Tie-off IRH (FH¥-70)
1 11:15 11:25 11:45 13.00 f ShRIRER X QOEF—L)
2 1300 13:10 13:30 1445 f R BB ¥OIDOEF—L)
3 1445 1455 1515 16:30 m SHIRER X (ADmF—L)
4 16:30 16:40 17:00 18:15 m R BB X (BOEF—L)

% — BHRE
Va—k E—#EE 5R)

Fft a—t1v Tip-off R (FHI-T0O)
1 11:30 11:40 1200 13:15 ZHFI=7 ERIRER X2omF—L)
2 1315 1325 1345 1500 ®FI=7 R BB X OEF—L)
3 1500 15:10 1530 16:45 R—/8—L =7 SRIRER XK(ADEF—L)
4  16:45 16:55 17:15 1830 R—/S—L =7 R’ BB X BOEF—L)

¥ < BHIGE
Wa—k HBEFEE

2t a—kq1> Tip-Off BH (B#I-TO)
1 11:50 12:00 12:20 1335 HFI=7 (&) 2.3 (&) 4,5 (2OmF—L)
2 1340 1350 1410 1525 XLFI=7 (&) 6.7 (&) 8,9 (1 DEF—L)

3/21(A) BILRR—Y 52—

Xa—k HB—HEE (EfD

Zft a—tav Tip-off BH (F¥$-TO)
1 1700 17:10 17:30 1845 BFI =7 ERRER X(20mF—L)
2 1845 1855 1915 2030 BFI=7F R OB X DO@mF—L)

X — BHRE
Ya—t E—#EE BR

Zft a—r1v Tip-off BH (FT¥$-TO)
1 1700 17:10 17:30 1845 BFL=7 3 SA 754 Ls (&) 4,5 (2OmF—L)
2 1845 1855 19:15 20:30 BFL =7 (&) 7,8 (&) 9, 10 I DEF—L)
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